Transfers Report

This report contains the transfers results.

Contest Name	Ward 6 - Stirling East
Valid Votes	3,834
Positions to be Filled	3
Quota	959

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Bryan FLANNAGAN	Scottish Conservative and Unionist	893
Linda HENDRY	Scottish Greens - Think Global Act Local	182
Chris KANE	Scottish Labour Party	829
Gary MCGROW	Independent	303
Gerry MCLAUGHLAN	Scottish National Party (SNP)	1,177
Gordon MURPHY	Scottish Liberal Democrats	91
Grant THOMS	Scottish National Party (SNP)	306
David TORTOLANO	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	53
	Total	3,834

Candidate Gerry MCLAUGHLAN Elected with 1,177 votes, being in excess of the quota of 959

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Gerry MCLAUGHLAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bryan FLANNAGAN	11	0.18521	2.03731
Transfer to Linda HENDRY	42	0.18521	7.77882
Transfer to Chris KANE	56	0.18521	10.37176
Transfer to Gary MCGROW	15	0.18521	2.77815
Transfer to Gordon MURPHY	12	0.18521	2.22252
Transfer to Grant THOMS	985	0.18521	182.43185
No further preference	53	0.18521	9.81613
Not transferred due to rounding			0.00783
	Total		218.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of David TORTOLANO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bryan FLANNAGAN	10	1.00000	10.00000
Transfer to Linda HENDRY	4	1.00000	4.00000
Transfer to Chris KANE	9	1.00000	9.00000
Transfer to Gary MCGROW	5	1.00000	5.00000
Transfer to Gordon MURPHY	5	1.00000	5.00000
Transfer to Grant THOMS	9	1.00000	9.00000
Transfer to Linda HENDRY	2	0.18521	0.37042
No further preference	11	1.00000	11.00000
No further preference	1	0.18521	0.18521
Not transferred due to rounding			0.00000
	Total		53.55563

Transfers Report

This report contains the transfers results.

98.22252

Stage 4 - Exclusion of Gordon MURPHY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bryan FLANNAGAN	20	1.00000	20.00000
Transfer to Linda HENDRY	19	1.00000	19.00000
Transfer to Chris KANE	29	1.00000	29.00000
Transfer to Gary MCGROW	12	1.00000	12.00000
Transfer to Grant THOMS	4	1.00000	4.00000
Transfer to Linda HENDRY	4	0.18521	0.74084
Transfer to Chris KANE	2	0.18521	0.37042
Transfer to Gary MCGROW	1	0.18521	0.18521
Transfer to Grant THOMS	4	0.18521	0.74084
No further preference	12	1.00000	12.00000
No further preference	1	0.18521	0.18521
Not transferred due to rounding			0.00000
	Total		98.22252

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Linda HENDRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bryan FLANNAGAN	6	1.00000	6.00000
Transfer to Chris KANE	55	1.00000	55.00000
Transfer to Gary MCGROW	36	1.00000	36.00000
Transfer to Grant THOMS	71	1.00000	71.00000
Transfer to Bryan FLANNAGAN	1	0.18521	0.18521
Transfer to Chris KANE	6	0.18521	1.11126
Transfer to Gary MCGROW	4	0.18521	0.74084
Transfer to Grant THOMS	30	0.18521	5.55630
No further preference	37	1.00000	37.00000
No further preference	7	0.18521	1.29647
Not transferred due to rounding			0.00000
	Total		213.89008

- - -

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Gary MCGROW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bryan FLANNAGAN	68	1.00000	68.00000
Transfer to Chris KANE	85	1.00000	85.00000
Transfer to Grant THOMS	69	1.00000	69.00000
Transfer to Chris KANE	4	0.18521	0.74084
Transfer to Grant THOMS	12	0.18521	2.22252
No further preference	134	1.00000	134.00000
No further preference	4	0.18521	0.74084
Not transferred due to rounding			0.00000
	Total		359.70420